
 

ANGIE 
 
(The Rolling Stones, 
arr. for Seagull Merlin 
by Teemu Paavolainen) 
 
b is for bending, \ for unbending; 
P.M.: palm mute, N.C.: no chord 
 
For one way to play it, check 
https://www.youtube.com/watch?v=uYQ0TAM5Bc8 
(the channel is called Unlikely Arrangements) 

 
 
 
  Intro 
  Bm         F#7             Asus4       G     [P.M.]        F# 
|–––2–4–2––|–––––1–2–1–––1–|–––0–1–4–1–0––––––|–––––0––––––––––––0––| 
|–––1––––––|–––2–––––––2–––|–––0–––––––––b1\1–|–––0–––––––0–––––2–0–| 
|–2––––––––|–2–––––––––––––|–1–––––––––––3––––|–3–––––0b2––\2–––––––| 
 
  Verse 
  Bm       F#7     [2x tap]   A       G        [N.C.]    D /C# 
|–––2–2––|–––2–1–1–(451–––––|–––1–1–1–1–0–0–––|–1–2–1–0––0––––(2–2)–| 
|:––1––––|–2–––––––––––452)–|–––––0–––1–––––1–|––––––––––0––2––––––:| 
|–2––––––|–2––––––––––––––––|–1–––––––3–––––––|(1–2–1–0)–0––––––––––| 
 
    Angie,   Angie,          when will those clouds disappear? 
    Angie,   Angie,          where will it lead us from here? With no 
 
  A                Em      Bm        D     G         A 
|–2–1–1–2–1––1–1–|–1–1–1–0–––––––––|–0–2–4–5–4–4–––|–4–2––––––––1–––| 
|–0––––––––––––––|–1–––––––1–––––––|–0–––––3–––––5–|–2––––4–––––0–––| 
|–1––––––––––––––|–3–––––––2–––––––|–0–––––3–––––––|–4––––––––––1–––| 
 
  loving in our souls                  you can’t  
            and no money in our coats      say we’re satisfied.  But 
 
  Bm           F#7            A       G        [N.C.]         /C# 
|–2––2–––––––|–2–2–1––––––––|–––1–1–1–1–0–0–––|–1––2––1––0––––––––––| 
|–1––––––––––|–2––––––––––––|–––––0–––1–––––1–|––––––––––––––––2––––| 
|–2––––––––––|–2––––––––––––|–1–––––––3–––––––|–1––2––1––0––––––––––| 
 
  Angie,       Angie,         you can’t say we never tried.  
 Angie, you’re beautiful,     but ain’t it time we said goodbye? 
 
  Outro 
  Bm         F#7         Asus4   G     [P.M.]      F#      Bm 
|–––2–4–2–|––––121––1––|–––01410––––––|–––0–––––––––––0––|––––––––––| 
|–––1–––––|–––2–––2––––|–––0–––––b1\1–|––0–––––0–––––2–0–|–0–1––––––| 
|–2–––––––|–2––––––––––|–1–––––––3––––|–3–––0b2–\2–––––––|–2––––––––| 
 


